Relationship and inbreeding coefficients
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Computing relationship and inbreeding using path
coefficients

e \Wright is responsible for the idea of tracing paths to establish the
relationships among animals.

Stepl: Convert the bracket pedigree to an arrow diagram in which each
Individual appears only once.
Step2: Locate common ancestors (CA)

For inbreeding coefficients: common ancestors are defined to be
common to both the sire and the dam of inbred individuals (X).

For relationship coefficients: common ancestors are defined to be
common to the two individuals of interest (x and y )
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Step 3: calculate the inbreeding coefficient for inbred common ancestors

Step 4: Full in the following table

Common
ancestor

Paths

(1/2) "*™ for Ryy
or
(112) ns+nd+1 fDI' Fx

1+FCA

Product of
lost two
columns

Step 5: Sum the last column to compute the numerator of R, or F,

Step 6: Rxy calculations only: divided the sum by 1+ F, /1 + F,
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1. From the following bracket pedigree:
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4. Caleulate the inbreeding coefficient of individual X (Fx) and the

relationship coefficient of the sire and dam (Rsp) in the following arrow
dizgrams of pedigrees,
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4. Cailculate the inbreeding coefficient of individual X (Fx) and the

relationship coefficient of the sire and dam (Rsp) in the following arrow
diagrams of pedigrees.
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Also calculate Rys for this pedigree.
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Ao calcuni=ate R for this pedigree.
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1 =

Ao calcuniate R for this pedigree.

= . &X

Rgp 205tr ) 7y (lPEe)

F b7 -l ~ible” - CQ")L/
o o / St = (j—)3
i el L &g dT
5 . ==
Rsp = Gt + )3+ + L7

SR RSl - 0./125 + ©.0625
O+BF5

g



Relationship and inbreeding coefficients

: S = A
e C

Alf=o calcmuni=ate R for this pedigree.
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Also calculate Rxs for this pedigree.
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Thanks for your attention



